1) —2eVETIILIERER

aUR4E: FEIRBEEITIILIBTEETKRE

BHESE AR : 15108148 (k)
FAI—X: OUT IN
HDCP_LPE: Bi4:36 &ft:36 =7 :3(

Avb: PARX2
Lo SmE L [OUT] IN | TOTAL | HCP | NET
BEs |V LTA
1 I\ 39 43 82 144 676
Bf —= 42 39 81 120 69
MR s 39 43 82 120 70
=11 245 206.6
B8 (UL 7PB &S O R B
D RBFR0 35 37 2 24 69.6
BH & 35 | 40 75 48 10.2
AN EE 41 40 81 96 714
=11 228 2112
20 [IRBPEA
B ZsA 46 41 87 216 654
S F 42 45 87 16.8 70.2
ANEBREZE 42 42 84 12 76.8
55 258 2124
31 | TUVERD
)T Rl 41 38 79 120 6
B BS 42 51 93 216 714
2E ¥ 47 52 99 240 75
55 271 2134
A (IREPRA
K [BE 37 39 76 06 66.4
Hp F|EA 41 38 79 2 718
EBINE5 43 42 85 72 778
=11 240 216
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vk PARX 2
JERL | &mmFES [OUT] IN [ TOTAL | HCP | NET
51 |TJUVEZB
B =" 37 41 78 1.2 708
KE B2 36 35 71 0.0 71
Y EZ 47 42 89 144 746
=11 238 2164
ofii |JUYERC
B B85 40 40 80 96 104
A& B 42 44 86 120 74
fBch o= 44 37 81 4.8 6.2
=11 24°( 2206
Th (REPRB
REIIIER 35 41 76 96 06.4
ZEn B35 44 48 o2 16.8 5.2
My += 45 47 o2 96 824
53 260 224
8fiI |IRBPRC
SR KiG 37 40 77 7.2 069.8
W 5= 39 39 78 0.0 78
S8 =R 39 40 79 0.0 79
55 234 2268
of1 | TUYEXRA
28 f#] 40 40 80 120 63
2B WE 44 46 90 120 78
X = 48 46 94 06 84.4
=11 264 2304
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Lo SmE L [OUT] IN | TOTAL | HCP | NET
10fiZ1 |IBi o
NZF =g 41 42 83 144 68.6
BH BC 39 42 81 00 81
RHELIE 42 44 86 48 81.2

&5t 2950 23038




